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SCH3Ul  Solubility Curves Practice .... il
/i 1. Using the information given plot a solubility curve for ammonium chloride.
‘ 3 Temperature (°C) Mass of NH4Cl in g/100 mL of water
30 41.4
50 50.4
70 60.2
80 71.3
Solubility Curve for Ammonium chloride
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The line on the curve represents the saturation point of the solid. Above the line represents a
supersaturated solution and below the line represents an unsaturated solution. Label these areas on
your graph.

2. Using the constructed graph in question 1, answer the following questions.
a) Determine the amount of ammonium chloride that would be soluble at 60°C, in 100 mL of
water. ‘5’§q

b) Determine the amount of ammonium chloride that would be soluble at 80°C, in 100 mL of

water. (sSq
)
c) Calculate the mass of ammomum chloride that would be soluble i |n 25mL of water at 50°C.
) 50 S04 m 100 5{15« 180 > 12.59,
d) A solution of 35g in 50 mL of water at 45°C would be considered which of the following?
i) Unsaturated i) Saturated Supersaturated b el
Cow f1.54- 100 = 73.75¢ Soluble - .. 354 - abart Saturaln
45°C w 10mL, 475 q L2y 5 K= 23.35¢ So 99 o
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